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Question ID : 630680287009
Option 1 ID : 6306801115949
Option 2 ID : 6306801115947
Option 31D : 6306801115950
Option 4 ID : 6306801115948
Status : Answered
Chosen Option : 2
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Ans
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Question ID : 630680287021
Option 11D : 6306801115995
Option 21D : 6306801115997
Option 31D : 6306801115998
Option 41D : 6306801115996
Status : Answered
Chosen Option: 2
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Ans X158
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Question ID : 630680287023
Option 11D : 6306801116003
Option 2 ID : 6306801116005
Option 31D : 6306801116004
Option 4 1D : 6306801116006
Status : Answered
Chosen Option: 3
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Question ID : 630680287018
Option 11D : 6306801115984
Option 2 1D : 6306801115983
Option 31D : 6306801115986
Option 4 1D : 6306801115985
Status : Answered
Chosen Option : 4
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Question ID : 630680287015
Option 11D : 6306801115974
Option 2 1D : 6306801115973
Option 31D : 6306801115971
Option 4 1D : 6306801115972
Status : Answered
Chosen Option : 4
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Question ID : 630680287017
Option 11D : 6306801115981
Option 2 ID : 6306801115982
Option 31D : 6306801115980
Option 4 ID : 6306801115979
Status : Answered
Chosen Option: 3
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680287010
6306801115953
6306801115952
6306801115951
6306801115954
Answered

1
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T Bl
55, 57, 66, 94, 159, 285,?
Ans X1 432
v 2 502
X 3490
X 4 466
Question ID : 630680287022
Option 1 ID : 6306801115999
Option 2 ID : 6306801116002
Option 31D : 6306801116001
Option 4 ID : 6306801116000
Status : Answered
Chosen Option: 2
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wEEr ¥, & BT v wHeRer A A9 S
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ans x1.187
X2 180
+3 193
< 4160
Question ID : 630680287020
Option 11D : 6306801115993
Option 2 ID : 6306801115992
Option 31D : 6306801115994
Option 4 ID : 6306801115991
Status : Answered
Chosen Option : 3




Q10 37 wgfy &1 woa w1 & AR wen & wdaE Rea (7) F w9 A

u] 2[A [m] [v3 A
A g 2 ?
O

Ans
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680287016
6306801115975
6306801115978
6306801115976
6306801115977
Answered

4
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Question ID : 630680287014
Option 11D : 6306801115969
Option 2 ID : 6306801115968
Option 31D : 6306801115967
Option 4 ID : 6306801115970
Status : Answered
Chosen Option : 4
Q.12 fr=fafae Tem @ & e o AR 3% a7 BT v gea & SR &)
(E9)254789347683472356794583467893456789346578
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g0 T HET FEAT F T TR g
Ans 5 1 6
X210
3 8
X412
Question ID : 630680287011
Option 1 ID : 6306801115955
Option 2 ID : 6306801115957
Option 31D : 6306801115956
Option 4 ID : 6306801115958
Status : Answered
Chosen Option: 3




Q13w fafdaa gz e &, 'SEPOY’ &1 110" foran =ar & 3 'COURT @1 116’ foram =mam &1 38 smar
# FIGHT & w1 R smeem?

Ans X 1155
X2 162
3 170
X4 165

Question ID : 630680287013

Option 11D : 6306801115963
Option 2 1D : 6306801115964
Option 31D : 6306801115966
Option 4 1D : 6306801115965

Not Attempted and
Marked For Review

Chosen Option : --

Status :
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et = s & &

B | e
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Question ID : 630680287019
Option 11D : 6306801115989
Option 2 ID : 6306801115988
Option 31D : 6306801115990
Option 4 ID : 6306801115987
Status : Answered
Chosen Option : 3
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Ans
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680287012

6306801115959
6306801115962
6306801115960
6306801115961

Status : Answered
Chosen Option : 4

Section : General Awareness

Q.1 yuf Afdfa Reeh-tjad vommed fhas wreal ik dhgenfRya v @ gl qorem?

Ans

X 1.9R

X 2.9
o 3.98
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680287032
6306801116039
6306801116042
6306801116041
6306801116040
Not Answered
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Question ID :
Option 11D :
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Option 31D :
Option 41D :
Status:

Chosen Option :

630680287033
6306801116046
6306801116044
6306801116045
6306801116043
Answered

2
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Question ID : 630680287030
Option 11D : 6306801116031
Option 2 ID : 6306801116033
Option 31D : 6306801116034
Option 4 1D : 6306801116032
Status : Answered
Chosen Option : 4
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Question ID : 630680287026
Option 11D : 6306801116015
Option 21D : 6306801116016
Option 31D : 6306801116017
Option 4 1D : 6306801116018
Status : Answered
Chosen Option : 1
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X 4.41%

Question ID : 630680287027
Option 11D : 6306801116021
Option 2 ID : 6306801116022
Option 3 1D : 6306801116020
Option 4 1D : 6306801116019
Status : Answered
Chosen Option : 2
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Ans o 1. FeeUr

X 2. menifa
X 3. FAE
X 4. gardfea
Question ID : 630680287025
Option 11D : 6306801116014
Option 2 ID : 6306801116012
Option 31D : 6306801116013
Option 4 ID : 6306801116011
Status : Not Answered
Chosen Option : --
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Ans X 1.3¢
o 2. ARaTS!
X 3397
X 4. Gt
Question ID : 630680287038
Option 11D : 6306801116066
Option 21D : 6306801116064
Option 31D : 6306801116065
Option 4 ID : 6306801116063
Status : Answered
Chosen Option : 2
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Ans X 1.16.63%
X 2.18.85%
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Question ID : 630680287037
Option 11D : 6306801116059
Option 2 ID : 6306801116061
Option 31D : 6306801116060
Option 4 ID : 6306801116062
Status : Answered
Chosen Option: 3
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Question ID : 630680287036
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Option 2 ID : 6306801116055
Option 31D : 6306801116057
Option 4 ID : 6306801116058
Status : Answered
Chosen Option : 4
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Question ID : 630680287028
Option 11D : 6306801116025
Option 21D : 6306801116024
Option 31D : 6306801116026
Option 41D : 6306801116023
Status : Not Answered
Chosen Option : --
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Question ID : 630680287029
Option 1 ID : 6306801116027
Option 2 ID : 6306801116029
Option 31D : 6306801116030
Option 4 ID : 6306801116028
Status : Not Answered

Chosen Option :




Q.12 o forare ug, 9 =f@ror ofar H @a@ et uepfaes 1wt | StTen 8, g8 WRa & Fefafaa

Ans

A Rraasa d f@a@?
X

X 2. feamae ver

X 3. fga
o 4. BT

Question ID :
Option 11D :
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Option 31D :
Option 41D :
Status :
Chosen Option :
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6306801116054
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6306801116052
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Not Answered
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Question ID : 630680287024
Option 11D : 6306801116008
Option 21D : 6306801116010
Option 31D : 6306801116009
Option 41D : 6306801116007
Status : Answered
Chosen Option : 4
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ARG &Y SrayrRoT & A1?
Ans o 1. AR dAR
X 2. FE A
X 3. 3fos s
X 4. Jsiferat gredT
Question ID : 630680287034
Option 11D : 6306801116050
Option 2 ID : 6306801116047
Option 31D : 6306801116048
Option 4 ID : 6306801116049
Status : Not Answered

Chosen Option :
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status
Chosen Option

630680287031
6306801116036
6306801116037
6306801116038
6306801116035
: Answered
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Section : Quantitative Aptitude
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Ans
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Question ID : 630680287052
Option 11D : 6306801116121
Option 2 1D : 6306801116120

Option 31D :
Option 41D :
Status :

Chosen Option :

6306801116119
6306801116122
Answered

1
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

630680287044
6306801116087
6306801116088
6306801116089
6306801116090
Answered

Chosen Option: 3




Q3 25 cm #®, 15 cm = 3R 6 cm @F TF I TN T TET SIFT (cm? ) B g
Ans x1.1235

v 2.1230

x3.1220

X 41225

Question ID : 630680287049
Option 11D : 6306801116110
Option 21D : 6306801116109
Option 31D : 6306801116107
Option 4 1D : 6306801116108
Status : Answered
Chosen Option: 2

Q4 A ve @ 8 AT & wear & 2 B 3@ w5 w12 A # wear §1 3 e 3@ e w fae
et & g w6
Ans 2
X1 3=
3
X 25
X3 6

4
w4 42
5

Question ID : 630680287046
Option 11D : 6306801116095
Option 2 ID : 6306801116097
Option 31D : 6306801116098
Option 4 ID : 6306801116096
Status : Answered
Chosen Option : 4

Q.5 T TRl #F A el A AW 5 em, 12'em 3T, 13 cm §1 BRIT F aNwd % TR UF Aad Fr
s 10 cm & 3@ &1 9T (cm #) e 27

Ans 1. 27
2 26
X3 28
x4 25
Question ID : 630680287050
Option 11D : 6306801116113
Option 21D : 6306801116112
Option 31D : 6306801116114
Option 41D : 6306801116111
Status : Answered

Chosen Option :

2




Q.6 A & 7% e g % Wi FerT-AeET A # 9 et ZaN a9 T aege’ S wE g g
arferrr &1 srewae &1 3t Pafafa e &= 3w &)

m  |=Ea

A B c D E
d@T (400 (420 |220 |- 260
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afy A Zamr =N a1 FEgat i T FEA 1700 §, A A TN VAR AT AR A
FEgat & @ feee S B2
Ans X1 240
X 2. 250
v 3 220
X 4230

Question ID : 630680287048
Option 11D : 6306801116105
Option 2 1D : 6306801116106
Option 31D : 6306801116103
Option 4 1D : 6306801116104
Status : Answered
Chosen Option: 3

Q.7 850 ml fsor & P AR FATT F7 3O 50 3 B WO F T F 6 1 7 HT 0, N
AT FfEE = 7 T oo Fe F v, oud A aar FOfEE (ml #@) femEr 2eme (FeReaw
quiter de JOTiTend)

Ans %1300
X 2302
3. 301
X 4303

Question ID : 630680287045

Option 11D : 6306801116091
Option 21D : 6306801116093
Option 31D : 6306801116092
Option 4 1D : 6306801116094

Not Attempted and
Marked For Review

Chosen Option : --

Status :




Q.8 o Frr aEgy 3% T Apw W 10% H gT W M5 F e wh ff| voiw 55 @ A T 2

#) fraar g =nfge?

Ans s 25
X2 28
X3 24
x4 22

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

630680287042
6306801116081
6306801116082
6306801116080
6306801116079
Answered

1

Q.9 qﬁx:6+\f§,3ﬁTy=6—xf§,Eﬂ'x2+y2ﬂmﬁﬁﬂTEﬁﬂT?
Ans «‘]78

X2 77
X3 79
X476
Question ID : 630680287039
Option 11D : 6306801116069
Option 2 ID : 6306801116068
Option 31D : 6306801116070
Option 4 ID : 6306801116067
Status : Answered
Chosen Option : 1
Q.10 P, Q, R =" 3itwa 9w 52 kg ¥1 afy P it Q & 3itma o 42 kg &, 3 Q 3t R &7 sitma s 44
kg ¥, @ Q & 9T (kg &) fag=m B
Ans X1 13
X215
X3 14
¢4 16
Question ID : 630680287040
Option 11D : 6306801116071
Option 2 ID : 6306801116073
Option 31D : 6306801116072
Option 4 ID : 6306801116074
Status : Answered
Chosen Option : 4




Q11 Ffr 33040 + 258.125 = 128 ¥, & 330.40 + 2581.25 F HT AT T

Ansv1.0.128
x21.28
<3.0.0128
x412.8
Question ID : 630680287053
Option 11D : 6306801116123
Option 2 ID : 6306801116124
Option 3 1D : 6306801116126
Option 4 ID : 6306801116125
Status : Answered
Chosen Option : 2
Q12 o= gfemesit 3 100 m & gff & v =% &1 & 9 6 e § st gfewest e der wer
= T gewEAt FAw 8 km/h #i 9 km/h #r i & s §1 5 TAeE 18 (km #) 3E @ gy
et gefr?
Ans 2
K1 —
35
1
X2 —
45
1
3 —
60
3
X4 —
35
Question ID : 630680287047
Option 11D : 6306801116101
Option 2 ID : 6306801116100
Option 3 1D : 6306801116099
Option 4 ID : 6306801116102
Status : Answered
Chosen Option: 3
Q.13 #fiar 7 39 8% FH T T ¥ 3WH, FH HY W AT F fhae IR Ferm J F 5 39F 7w
I F T A ST TH? (T GRAFS de qUITTRA) |
Ans X 1. 8.4%
X2 85%
X3 8.8%
4 8.7%
Question ID : 630680287041
Option 11D : 6306801116075
Option 2 ID : 6306801116076
Option 31D : 6306801116078
Option 4 ID : 6306801116077
Status : Answered
Chosen Option : 4




Q.14 x |y .z x+y+z

A o g, @ — — e gem?
Ans X186

x27

X35

44

Question ID : 630680287043
Option 11D : 6306801116085
Option 2 1D : 6306801116086
Option 31D : 6306801116084
Option 4 1D : 6306801116083
Status : Answered
Chosen Option : 4

Q.15 o i & ampfa wmaER ¢, S FeE e SeE @ 20% 3w &1 3 amaER e B e
A =i F 9 3T 10 cm g, O 3H AT F EIRT (em? ) TFaem geme

Chosen Option :

Ans 1. 3000
X 2. 3560
< 3. 3555
< 4. 3565
Question ID : 630680287051
Option 11D : 6306801116115
Option 2 1D : 6306801116117
Option 31D : 6306801116116
Option 4 1D : 6306801116118
Status : Answered

1

Section : English Language & Comprehension




Q.1 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the

correct order to form a meaningful and coherent paragraph.

A. The first green corridor in India was created by Chennai Traffic Police in September

2008.

B. That organ saved a nine-year-old girl whose life depended on the transplant.

C. They accomplished their task of enabling an ambulance to reach its destination within 11

minutes during peak hour traffic.

D. The traditional method of transporting organs by road is referred to as a ‘green corridor’.

Ans X 1.ABDC
< 2.ACDB
X 3.DBAC
«" 4. DACB
Question ID : 630680287054
Option 11D : 6306801116127
Option 2 1D : 6306801116129
Option 31D : 6306801116130
Option 4 1D : 6306801116128
Status : Answered
Chosen Option : 4
Q.2 Select the most appropriate ANTONYM of the given word.
Persuade
Ans  # 1. Prevent
/X 2. Convert
X 3. Assure
X 4. Satisfy
Question ID : 630680287062
Option 11D : 6306801116159
Option 2 1D : 6306801116162
Option 31D : 6306801116160
Option 4 1D : 6306801116161
Status : Answered
Chosen Option: 1
Q.3 Select the most appropriate meaning of the given idiom.
Play into the hands of
Ans X 1.To be deceived by someone

/X 2. To give a performance
& 3. To be controlled by someone

X 4.To earn a lot of money

Question ID : 630680287061
Option 11D : 6306801116156
Option 21D : 6306801116158
Option 31D : 6306801116157
Option 4 1D : 6306801116155
Status : Answered
Chosen Option : 3




Q.4 Select the most appropriate option to fill in the blank.

Some plants are
Ans X 1.senseless

to touch.

X 2. sensible
& 3. sensitive
X 4. senile
Question ID : 630680287058
Option 11D : 6306801116146
Option 21D : 6306801116143
Option 31D : 6306801116144
Option 4 ID : 6306801116145
Status : Answered
Chosen Option : 2
Q.5 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
correct order to form a meaningful and coherent paragraph.
A. His mother named him Mkali, which means fierce.
B. Nothing in the jungle ever excited him.
C. Once upon a time, there lived a tiger.
D. But that was a misnomer because Mkali was a lazy little cat.
Ans X 1.CBDA
«” 2. CADB
/< 3.CABD
7< 4.CDAB
Question ID : 630680287055
Option 11D : 6306801116132
Option 2 1D : 6306801116133
Option 31D : 6306801116131
Option 4 ID : 6306801116134
Status : Answered
Chosen Option : 2
=
Q.6 Select the most appropriate meaning of the given idiom.
Over and above
Ans X 1.Forawhile
< 2.1n a short time
%" 3. In addition to
X 4.Torise high
Question ID : 630680287060
Option 1 ID : 6306801116151
Option 21D : 6306801116153
Option 31D : 6306801116152
Option 4 ID : 6306801116154
Status : Answered

Chosen Option :

1




Q.7 Select the most appropriate synonym of the given word.

lllustrious
Ans X 1. Notorious

X 2. Mundane
" 3. Renowned

25 4. Inferior
Question ID : 630680287063
Option 11D : 6306801116164
Option 21D : 6306801116163
Option 31D : 6306801116166
Option 4 ID : 6306801116165
Status : Answered
Chosen Option : 4
Q.8 Parts of the following sentence have been given as options. Select the option that contains
an error.
Many of us believe that small actions and choices does not have much impact on our lives.
Ans X 1.impacton our lives
X 2. Many of us believe
«¥ 3. does not have much
Z5 4. that small actions and choices
Question ID : 630680287056
Option 11D : 6306801116138
Option 21D : 6306801116135
Option 31D : 6306801116137
Option 4 ID : 6306801116136
Status : Not Answered
Chosen Option : --
Q.9 Select the most appropriate option to fill in the blank.
This car belongs to our family. It is
Ans  # 1.0urs
X 2.our's
X 3.our
X 4. ours’
Question ID : 630680287064
Option 11D : 6306801116169
Option 2 ID : 6306801116168
Option 31D : 6306801116167
Option 4 ID : 6306801116170
Status : Answered
Chosen Option: 2




Q.10 Select the most appropriate option to fill in the blank.

Do you know a short cut
Ans X 1. at

X 2. of
X 3.in
W 4.10

the airport?

Question ID : 630680287059
Option 11D : 6306801116147
Option 21D : 6306801116149
Option 31D : 6306801116148
Option 4 1D : 6306801116150
Status : Answered
Chosen Option : 4

Q.11 Parts of the following sentence have been given as options. Select the option that contains
an error.

A feast had being laid out for the royal guests who were expected to arrive soon.
Ans " 1. Afeast had being laid out
#< 2. for the royal guests
/< 3.to arrive soon

5 4. who were expected

Question ID : 630680287057
Option 11D : 6306801116139
Option 2 ID : 6306801116140
Option 31D : 6306801116142
Option 4 ID : 6306801116141
Status : Not Answered
Chosen Option : --




Comprehension:
Read the given passage and answer the question that follows.

All of Earth’s oceans share one thing in common ‘plastic pollution’. When people litter, or when
the trash is not properly disposed of, things like plastic bags, bottles, straws, foam and
beverage cups get carried to the sea by winds and waterways. About 80% of ocean plastic
originates on land. The rest comes from marine industries such as shipping and fishing.

In 2015, engineer Jenna Jambeck at the University of Georgia and other researchers
calculated that at least 8 million tons of plastic trash are swept into the ocean from coasts
every year. That's the equivalent of a full garbage truck of plastic being dumped into the sea
every minute. If current trends in plastic production and disposal continue, that figure will
double by 2025. A report published by the World Economic Forum last year predicts that by
2050, ocean plastic will outweigh all the fish in the sea.

In today’s world, plastic is everywhere. There are different types of plastics, but they are all
made of polymers—large molecules made up of repeating units. Their chemical structure
gives them a lot of advantages: they're cheap and easy to manufacture, lightweight, water-
resistant, durable and can be moulded into nearly any shape.

Sea turtles eat plastic bags and soda-can rings, which resemble jellyfish, their favourite food.
Seabirds eat bottle caps or chunks of foam cups. Plastic pieces may make an animal feel full,
so it doesn't eat enough real food to get the nutrients it needs.

One way to keep the ocean cleaner and healthier is through clean-up efforts. A lot of plastic
waste caught in ocean currents eventually washes up on beaches. Removing it prevents it
from blowing out to sea again. Beach clean-up is ocean clean-up. But it's critical to cut down
on the amount of plastic that reaches the sea in the first place.

SubQuestion No : 12

Q.12 What percentage of plastic in the oceans is contributed by marine industries?

Ans

X 1.25%
X 2.50%
X 3.80%
o 4.20%

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status
Chosen Option :

630680287066

6306801116172
6306801116173
6306801116174
6306801116171

: Answered

4




Comprehension:
Read the given passage and answer the question that follows.

All of Earth’s oceans share one thing in common ‘plastic pollution’. When people litter, or when
the trash is not properly disposed of, things like plastic bags, bottles, straws, foam and
beverage cups get carried to the sea by winds and waterways. About 80% of ocean plastic
originates on land. The rest comes from marine industries such as shipping and fishing.

In 2015, engineer Jenna Jambeck at the University of Georgia and other researchers
calculated that at least 8 million tons of plastic trash are swept into the ocean from coasts
every year. That's the equivalent of a full garbage truck of plastic being dumped into the sea
every minute. If current trends in plastic production and disposal continue, that figure will
double by 2025. A report published by the World Economic Forum last year predicts that by
2050, ocean plastic will outweigh all the fish in the sea.

In today’s world, plastic is everywhere. There are different types of plastics, but they are all
made of polymers—Ilarge molecules made up of repeating units. Their chemical structure
gives them a lot of advantages: they're cheap and easy to manufacture, lightweight, water-
resistant, durable and can be moulded into nearly any shape.

Sea turtles eat plastic bags and soda-can rings, which resemble jellyfish, their favourite food.
Seabirds eat bottle caps or chunks of foam cups. Plastic pieces may make an animal feel full,
so it doesn't eat enough real food to get the nutrients it needs.

One way to keep the ocean cleaner and healthier is through clean-up efforts. A lot of plastic
waste caught in ocean currents eventually washes up on beaches. Removing it prevents it
from blowing out to sea again. Beach clean-up is ocean clean-up. But it's critical to cut down
on the amount of plastic that reaches the sea in the first place.

SubQuestion No : 13

Q.13 What is common between different types of plastics?

Ans

25 1. They are consumed by sea creatures.
#< 2. They are all dumped into the sea.
Z5 3. They can be used for making bottles.

¥ 4. They have the same chemical structure.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status

630680287067

6306801116178
6306801116176
6306801116175
6306801116177

. Answered
Chosen Option :

4




Comprehension:
Read the given passage and answer the question that follows.

All of Earth’s oceans share one thing in common ‘plastic pollution’. When people litter, or when
the trash is not properly disposed of, things like plastic bags, bottles, straws, foam and
beverage cups get carried to the sea by winds and waterways. About 80% of ocean plastic
originates on land. The rest comes from marine industries such as shipping and fishing.

In 2015, engineer Jenna Jambeck at the University of Georgia and other researchers
calculated that at least 8 million tons of plastic trash are swept into the ocean from coasts
every year. That's the equivalent of a full garbage truck of plastic being dumped into the sea
every minute. If current trends in plastic production and disposal continue, that figure will
double by 2025. A report published by the World Economic Forum last year predicts that by
2050, ocean plastic will outweigh all the fish in the sea.

In today’s world, plastic is everywhere. There are different types of plastics, but they are all
made of polymers—Ilarge molecules made up of repeating units. Their chemical structure
gives them a lot of advantages: they're cheap and easy to manufacture, lightweight, water-
resistant, durable and can be moulded into nearly any shape.

Sea turtles eat plastic bags and soda-can rings, which resemble jellyfish, their favourite food.
Seabirds eat bottle caps or chunks of foam cups. Plastic pieces may make an animal feel full,
so it doesn't eat enough real food to get the nutrients it needs.

One way to keep the ocean cleaner and healthier is through clean-up efforts. A lot of plastic
waste caught in ocean currents eventually washes up on beaches. Removing it prevents it
from blowing out to sea again. Beach clean-up is ocean clean-up. But it's critical to cut down
on the amount of plastic that reaches the sea in the first place.

SubQuestion No : 14

Q.14 What is the passage mainly about?

Ans

«” 1. Plastic pollution
75 2. Uses of plastic
#< 3. Beach clean-up
5 4. Trash disposal

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680287068
6306801116180
6306801116179
6306801116182
6306801116181
Answered

1




Comprehension:
Read the given passage and answer the question that follows.

All of Earth’s oceans share one thing in common ‘plastic pollution’. When people litter, or when
the trash is not properly disposed of, things like plastic bags, bottles, straws, foam and
beverage cups get carried to the sea by winds and waterways. About 80% of ocean plastic
originates on land. The rest comes from marine industries such as shipping and fishing.

In 2015, engineer Jenna Jambeck at the University of Georgia and other researchers
calculated that at least 8 million tons of plastic trash are swept into the ocean from coasts
every year. That's the equivalent of a full garbage truck of plastic being dumped into the sea
every minute. If current trends in plastic production and disposal continue, that figure will
double by 2025. A report published by the World Economic Forum last year predicts that by
2050, ocean plastic will outweigh all the fish in the sea.

In today’s world, plastic is everywhere. There are different types of plastics, but they are all
made of polymers—Ilarge molecules made up of repeating units. Their chemical structure
gives them a lot of advantages: they're cheap and easy to manufacture, lightweight, water-
resistant, durable and can be moulded into nearly any shape.

Sea turtles eat plastic bags and soda-can rings, which resemble jellyfish, their favourite food.
Seabirds eat bottle caps or chunks of foam cups. Plastic pieces may make an animal feel full,
so it doesn't eat enough real food to get the nutrients it needs.

One way to keep the ocean cleaner and healthier is through clean-up efforts. A lot of plastic
waste caught in ocean currents eventually washes up on beaches. Removing it prevents it
from blowing out to sea again. Beach clean-up is ocean clean-up. But it's critical to cut down
on the amount of plastic that reaches the sea in the first place.

SubQuestion No : 15

Q.15 Which of these is NOT true?

Ans & 1. Ocean plastic outweighs fish in the sea.
/< 2. Soda can rings resemble jelly fish.
/< 3. By 2025, 16 million tons of plastic trash will end up into the ocean every year.
75 4. Plastics last for a very long time.
Question ID : 630680287069
Option 11D : 6306801116184
Option 2 ID : 6306801116183
Option 3 1D : 6306801116185
Option 4 ID : 6306801116186
Status : Answered
Chosen Option : 4
Q.1 ﬁ ﬁ |._. - - § :
Ans
1. ' gfateaa
v foega 3 & 59 3R graT g AT
X2 ged & DT &T § FIH FeI FLA
X 3 QOSN3 2AfFd 0T H GUR FHIAT
4. ] -
X 4 T ITOT T 3ERATST T Jhe
Question ID : 630680287081
Option 11D : 6306801116231
Option 2 ID : 6306801116232
Option 3 1D : 6306801116233
Option 4 ID : 6306801116234
Status : Answered
Chosen Option: 1




Q.2 The process of depositing a layer of metal on another material by passing an electric current is called
o 1.
x 2
X 3.
X 4

Ans electroplating

electrodynamics
electromagnetism

electrolysis

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status :
Chosen Option :

: 630680287096

: 6306801116293
: 6306801116294
: 6306801116292
: 6306801116291

Answered
1

3 Grfafla & ¥ Hla-ar Reed 38 Regadh & 9 & &1 aar 12

Ans

e

X dgrer
X 2. olrgT
X 3. ey

o 4 H¥h

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680287077
6306801116215
6306801116218
6306801116217
6306801116216
Answered

4

@4 gadr (LT) fawor #,
Ans X 1. PILCA

¢ 2 PVC

X 3. XHV

X 4 XLPE

Y FI el T 3T AT Frar g

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680287094
6306801116283
6306801116284
6306801116286
6306801116285
Answered

4




 LED ¥ dey & B=@g § ¥ #a-ar sya o 32

Ans  # 1.
LED 9fadif*q zgg & goan # 3#foe fasrelr #r @aa w3 &
x 2
Qﬁaﬁr@gaﬁrgmﬁLEDmmmﬁm%I
X 3. LED #g T H 3UeTeeT 2
X 4
LED T 93 &7 Light Emitting Diodes ufafeeT gl
T }
Question ID : 630680287099
Option 11D : 6306801116304
Option 2 ID : 6306801116305
Option 31D : 6306801116303
Option 4 ID : 6306801116306
Status : Answered
Chosen Option : 1
Q.6 *
FAT & IO Fid HH G 9T,
A v grarefter
X 2. AT-HEwUTHT
X 3. TUEIOT HeJher
X 4 TR
Question ID : 630680287106
Option 11D : 6306801116333
Option 2 ID : 6306801116332
Option 31D : 6306801116334
Option 4 ID : 6306801116331
Status : Answered

Chosen Option :

1




¥ faega-ave & Wy # e # @ HA-A Hud e §2
" %ﬁmwmmﬁamwmmg@mmm%
gﬁ%ﬂﬁ@ﬁ#ﬁ?ﬁ@?—ﬁqﬂﬁmﬁﬁmmﬁl
%ﬁmmﬁﬁwmmﬁmmmﬁl

o 4
afte & S Al urg @ 3TAET Rega vuer @9 # TAls F w9 A fRar S g

Question ID : 630680287098
Option 11D : 6306801116300
Option 2 ID : 6306801116299
Option 31D : 6306801116301
Option 4 ID : 6306801116302
Status : Answered
Chosen Option: 3

Q.8 REiE & dwear & &OF F AR, W& ARG 7Oy F, 9wy $ g amar F e,
&I gl

X gl AT F ORT & e

X 2. Jedieh AT & FeRIY & HTHATIr
xs.%ﬂ
v 4 HHAT

Question ID : 630680287078
Option 11D : 6306801116220
Option 21D : 6306801116219
Option 31D : 6306801116221
Option 41D : 6306801116222
Status : Answered
Chosen Option : 4




Y fratafEa gt & B fifew

Ans

el el
i. fege veafe® w0 | a. Sfen# suw
ii. @Y F=T b. TEEEE HEHfRaT

i, Rega #=

iv. fagge Jadr awor

d. SeRrEeery T

X1 B
v 2 A
X3 C
X4D

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680287072
6306801116196
6306801116195
6306801116197
6306801116198
Answered

2




Q10 ey v Ro TR, FEAte@d § ¥ W 39T 1 3T B seer?

Ans

i. %aeT A (Cable drums)
ii. AEEHRT (Multimeter)

iii. TITeT eI (Angle rollers)
iv. R (Wrench)

X1 i gat
X2 i AR iv et
3 3T i gt

X i 3t iii gt

Question ID
Option1 ID
Option 2 1D
Option 3 ID
Option 4 ID
Status :

Chosen Option :

1 630680287086

1 6306801116251
1 6306801116254
1 6306801116252
1 6306801116253

Not Answered

Q1 PreefafEm & ¥ #a- fwen, fmgs ¥ fw sgwa =0 5 R 89 & s 2

Ans

}(1.@3’

X 2. gTepfaes g
X3 I
v 4 SIOCdATT

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680287107
6306801116337
6306801116338
6306801116335
6306801116336
Answered

4




" feege @ F sETEa 5E TR AEr HAT 87
A X gumel F Seedr TR F T

v Taega voa & TR FFA

x 3. faega F2ETr Fr TFa

x 4 faggea OwoT gatar # guR e

Question ID : 630680287079
Option 11D : 6306801116226
Option 2 ID : 6306801116224
Option 31D : 6306801116223
Option 4 ID : 6306801116225
Status : Answered
Chosen Option : 2

U am & ew ¥ gey F TR § @ Fear aew vl R
ans X1| = ER

v2 E = IR
X3R=1/E
X4R = El

Question ID : 630680287074
Option 11D : 6306801116203
Option 2 ID : 6306801116204
Option 31D : 6306801116206
Option 4 1D : 6306801116205
Status : Answered
Chosen Option : 2

Q14 RofafEa & ¥ Fia-8r §9ea, azea safdeFa Hig (NEC) Yol ar &2
A X s wiE 9fiwg (ICC)
X 2. LA AR =94 (BIS)

¢ 3 FAFT BT FederT THTETE (NFPA)

x 4
SEITIT AT Selfagad US Solagi=ed sl=ay (IEEE)

Question ID : 630680287082
Option 11D : 6306801116236
Option 2 ID : 6306801116235
Option 31D : 6306801116237
Option 4 ID : 6306801116238
Status : Answered
Chosen Option : 4




T 2 AEd Seear 9gFT F HFT TH W p-n TR T FA T E2

Ans

v 1. ST 9T T IHTHT ST g7 2

X2 ST W o AR B g @i @ 2
X3 Fg qAT FAET BT gl

X 4 FHFUT § 9T HEET T 9agd 2 dr gl

Question ID : 630680287109
Option 11D : 6306801116346
Option 2 ID : 6306801116344
Option 31D : 6306801116345
Option 4 ID : 6306801116343
Status : Not Answered
Chosen Option : --
Q.16 == v afiEd Jadm &, ey awd A fega o # $iE e g, o 8 aimear ar
FET = gl
Ans :
1. -
v Faega-TEsm wor
2. -
X 2 Taega-gesh e
3. -
X 3. faega-gehT gfelry
4. —
X 4. facga-gehT waH
Question ID : 630680287102
Option 11D : 6306801116318
Option 2 ID : 6306801116315
Option 31D : 6306801116316
Option 4 ID : 6306801116317
Status : Answered

Chosen Option :

1

V7 uRT 7 YeTE g W AR & TRa: gEh 8 # awed,

Ans

1. FEAT

X2 g @ SATEE

X3 A @I
X4 g

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680287101
6306801116311
6306801116313
6306801116314
6306801116312
Answered

1




Q.18 The BIS mark on electrical tools and machinery indicates compliance with type of standards.

Ans

« 1. national quality standards
X 2. industry-specific performance
X 3. international safety

X 4. eco-friendly

Question ID : 630680287090
Option 11D : 6306801116270
Option 2 ID : 6306801116269
Option 31D : 6306801116267
Option 4 ID : 6306801116268
Status : Answered
Chosen Option: 1
Q.19 : :
=T # ¥ Fia-ar Teew 3mer & Fewar 7@ 22
Ans X 1.
3T F 3 IeTe FAT § T AR FEA &A1 T
X 2. oY IRGYS, HET T H TF FHG FHROT gl
X 3 HET FHaY ofr T Tar B
o 4
Regd 3w W w1 9= F B F9 7@ s e g
Question ID : 630680287087
Option 11D : 6306801116256
Option 2 ID : 6306801116258
Option 31D : 6306801116255
Option 4 ID : 6306801116257
Status : Answered
Chosen Option : 4
20 faega TEfaE A F FE0THG F ITAT T F FAT THEUR 82
Ans X1 gfeRrer s & oo
X 2 qREY @ 9T F & o
X3 A wF FaiT w= F
v . ega-svmer F e & I F B
Question ID : 630680287097
Option 11D : 6306801116295
Option 2 ID : 6306801116297
Option 31D : 6306801116298
Option 4 ID : 6306801116296
Status : Answered
Chosen Option : 2




Q21 sy ofiwy # sfoy e w@st 3k dieear A fFe a9 ), ORT WX @ geE @em?

Mo Tg e @ S
X 2 Og HTedr gr Sreel|

X 3. gg AT I
X 4 TG I TAT B AT

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680287083
6306801116240
6306801116239
6306801116242
6306801116241
Answered

1

Q.22 Fz-3i% W Fafed HTFAT F FoFeT F 3TN FA W U AT T F F 77§ F4 T2

Ans k1. afrer (Circuit)
X 2. glesX (Holder)
X 3 gdrew (UPS)

o 4 TE=r (Switch)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680287108
6306801116341
6306801116340
6306801116342
6306801116339
Answered

4

OB e & B & 3ER, AN FUT & WA T &

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680287105
6306801116330
6306801116327
6306801116328
6306801116329
Answered

2




0% g T fega FE, F T 9T FIF FIGT &

& 1. Insulation

X 2. Protective jacket

" 3. Connectors
X 4. Conductors

Ans .
1. .
v feega-Tgesm wor
2. 3]
X 2 faega-geh fafeor
. =
X 3. facga-gehg av
. =
X 4 faega-gedg oo
Question ID : 630680287100
Option 11D : 6306801116309
Option 2 ID : 6306801116307
Option 3 ID : 6306801116308
Option 4 1D : 6306801116310
Status : Answered
Chosen Option : 1
Q25 WWhich of the following is NOT a major component of the cable?
Ans

Question ID : 630680287092

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6306801116276
6306801116277
6306801116278
6306801116275
Answered

2

Ans

X 1. weray (Pliers)
v 2 Y=g (Screwdriver)
X 3. ¢reX (Tester)
x 4 ¥ (Wrench)

Q26 Prafaf@d & ¥ 5@ 3T0T &1 STAET &% # FEed T 4 & Qe R = $

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

630680287084
6306801116245
6306801116246
6306801116244
6306801116243
Answered

Chosen Option : 2




Q27 e #, Taega wow AR AT AT F BT FiF-8r fSTE (BIS) AEE o9 2

Ans %1 1S 618
¥ 218 1293
X318 302-1-4
X4 1S 694
Question ID : 630680287089
Option 11D : 6306801116265
Option 2 ID : 6306801116263
Option 31D : 6306801116266
Option 4 ID : 6306801116264
Status : Not Answered
Chosen Option : --
Q28 fpeE Hige (Fixture joint) &1 393 F&T & ¥ fore fFar Far B
Ans :
X 1. gl T oEE g
2. =
v 2. ATWT AMEA FI ACT AT H A3
S
X3 FIT F Fea
X4 drR @ Ag
Question ID : 630680287091
Option 1 ID : 6306801116273
Option 2 ID : 6306801116272
Option 31D : 6306801116271
Option 4 ID : 6306801116274
Status : Not Answered
Chosen Option : --
Q29 2 ueTeHSF HAA FT WER FAFe @ I W, T TH-IA F YT
Ans x 1. ﬁ ﬁ
X2 HERET
X 3. ager Ffaea fh e
v+ giasisa
Question ID : 630680287073
Option 11D : 6306801116201
Option 2 ID : 6306801116200
Option 31D : 6306801116202
Option 4 ID : 6306801116199
Status : Answered
Chosen Option : 4




30 Frezar =g FT ITT, F AT F B S sar B

Ans
v . foega s To
X 2. faegara gferry
X 3. faega afed
X 4. faega amawr
Question ID : 630680287075
Option 11D : 6306801116210
Option 2 ID : 6306801116209
Option 31D : 6306801116208
Option 4 ID : 6306801116207
Status : Answered
Chosen Option : 1
.31 w d u
O3 e SRS T HEAUES TN, % e wsTEr )
Ans :
X1 HUg H T HET
X 2. Sapar T AT
X 3. FZ H T HET
v 4 Taegdg T
Question ID : 630680287088
Option 11D : 6306801116262
Option 21D : 6306801116261
Option 31D : 6306801116260
Option 41D : 6306801116259
Status : Answered
Chosen Option : 4




Q32 gelect the correct sentence from the following.

Ans

wal

Underground power cable system involves very high safety factor.

x 2

The underground power cable system does not have a good power factor.

< 3.

In the case of an underground power cable system, the selection of route length is not easy.

x 4

The maintenance cost in the case of an underground power cable system is very high.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680287095

6306801116287
6306801116289
6306801116290
6306801116288

Status : Answered

Chosen Option : 4
Q.33 gy # DC sfiwy # deear A9 ¥ e F 717 ¥ RE 3MRT A | aRaw #F or, I
Ans x 1. ﬁ ? %
X2 g g
v T B A
X4 oHedr g
Question ID : 630680287103
Option 11D : 6306801116322
Option 21D : 6306801116319
Option 31D : 6306801116321
Option 41D : 6306801116320
Status : Answered
Chosen Option : 4
.34
Q3 e (Megger) T 39TTT F 71T F forw frar =T B
Ans oo
v AR # aRoT AR -giasre
X2 feRdr 9Ty & ORT vag
x 5. fagge ofvaer & ar fagat & 9= R
x 4 T Gw are afmy $r Fega oafed
Question ID : 630680287085
Option 11D : 6306801116249
Option 21D : 6306801116247
Option 31D : 6306801116248
Option 41D : 6306801116250
Status : Answered
Chosen Option : 1




Q.35 zafFefadr (electricity) g & 3cqfeq ¥ Hoy & =@ & ¥ Sig-w/d Fu= weg 78 §32
i. ST (electricity) erea &1 3eafed e oreg & g% 31

i. SHTFETAET (electricity) T B F S FfH= o (Benjamin Franklin) & ST 21

iii. 38 wfF & fagga F= & oREfad B s 7

Ans e :
X i 3T i ST
X 2. hae i
V3 I
X 4i ARl grar
Question ID : 630680287070
Option 11D : 6306801116188
Option 2 ID : 6306801116189
Option 3 ID : 6306801116187
Option.4 ID : 6306801116190
Status : Answered
Chosen Option: 3
Q.36 :
ar =TTl T FATSeT T 9iehar =1 FaEr a8l
Ans . .
X 1. FaATFET (connecting)
2. + = - -
x $P§|ﬁ?TJ (insulating)
X 3. S99 (looping)
¢ 4 FIET (jumpering)
Question ID : 630680287093
Option 11D : 6306801116279
Option 2 ID : 6306801116280
Option 3 ID : 6306801116282
Option 4 ID : 6306801116281
Status : Answered
Chosen Option : 1
Q37 YWhich of the following is NOT a type of circuit?
Ans X 1. Open
X 2. Closed
/< 3. Parallel
4. Twisted
Question ID : 630680287104
Option 11D : 6306801116323
Option 2 ID : 6306801116324
Option 3 ID : 6306801116325
Option 4 1D : 6306801116326
Status : Answered
Chosen Option : 4
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Question ID : 630680287076
Option 11D : 6306801116211
Option'2 ID : 6306801116212
Option 31D : 6306801116213
Option 4 1D : 6306801116214
Status : Answered
Chosen Option : 4

Q.39 Select the correct answer/s from the following.
i. Faraday’s Law of electromagnetic induction is the basic principle for electrical generator.
ii. Electrical energy generation involves conversion of electrical energy into kinetic energy.

iii. In the conversion of mechanical energy into electrical energy an electrical generator is used.
Ans X 1. Both ii and iii
< 2. Both i and ii
« 3. Both i and iii
X 4.1, il and iii

Question ID : 630680287071
Option 11D : 6306801116191
Option 2 ID : 6306801116193
Option 31D : 6306801116192
Option 4 ID : 6306801116194
Status : Answered
Chosen Option: 3
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Question ID :
Option 11D :

Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680287080
6306801116230
6306801116229
6306801116228
6306801116227
Answered

1




